MCQ test 4 (27/3/04)

1)In traumatic posterior dislocation of the femur, which is true:

a)femoral vessel damage

b)femoral nerve damage

c)

d)

e)AVN is a distinct possibility





Ans: E

2)Which bone is a result of ossification of membrane …

a)humerus

b)clavicle

c)patella

d)tibia

e)scaphoid








Ans:B

Commonest cause of bowing of legs in a 1-yo child:

a)CTEV

b)

c)internal tibial torsion

d)

e)









Ans: C

45-yo lady came in complaining of knee pain, limited joint movements, swelling. The likely cause :

a)

b)

c)septic arthritis

d)RA

e)OA









Ans: E

when would you treat a CTEV:

a)right after birth

b)1 month after birth

c)1 year old

d)when the bone stopped growing

e)









Ans: A

commonest site for non-union after #

a)

b)proximal tibia

c)proximal humerus

d)jn ofdistal 1/3 and proximal 2/3 of tibia

e)









Ans:D

3)cause of death on the 3rd day after the pelvic # is due to:

a)haemorrhage

b)fat embolism

c)rectal injury

d)bladder injury

e)urethral injury







Ans: B

4)commonest complication of injury in hand # is:

a)non-union

b)mal-union

c)tendon adesion

d)

e)AVN









Ans: C

5)most common ankle sprain:

a)anterior talo-fibular lig

b)calcaneofibular lig

c)posterior talo-fibular lig

d)deltoid lig

e)XXX









Ans: A









6)which in the following is true in acute rupture of Tendo-Achilles 

a)due to direct injury

b)radiography will confirm the diagnosis

c)compression of the calf will result in plantar-flexion of the foot

d)occur commonly in middle-aged  

e)surgery in unnecessary






Ans: D

In degenerative spondylolisthesis all true except

Usually grade I listhesis

Facet joint OA is cause

Neurogenic claudication is classical

CT-myelogram is modality of choice

Usually at L5-S1 level                                                                                    Ans:????
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